Nordap‘"/

EEEEEEEEEEEEEEEEEEE

SERVICE MANUAL

VERTICAL-TYPE BOTTLE COOLERS

)




Related Models:

M185

MS185

M205



Kenneth Tønder
Cross-Out


o

Safety precautions and recommendations
Technical Specifications

2.1 General product appearance and specifications
2.2 Electrical parts and specifications

2.3 Temperature control and adjusting
Product labelling and descriptions

3.1 Type label and descriptions

3.2 Serial number expansion

3.3 Product model nhame expansion

Product Assembly and Disassembly

4.1 Lighting Disassembly

4.2 Cooling and Electrical parts assembly and
disassembly

4.3 Evaporator-Fan-Thermostat Disassembly
4.4 Roller replacement disassembly

4.5 Rollbond-Fan-Thermostat Disassembly
4.6 Door removal

Power cycle diagram

Product failure

6.1 Device is not working or not cooling

6.2 Cooling system troubleshooting

6.3 Device runs loudly



Safety precautions and recommendations

1. Deep freezer/ Cooler is set for 220-240 V 50 Hz network power. Use of incompatible
voltage may cause deep freezer to become inoperable or fire.

2. Do not place the deep freezer / cooler under direct sunlight or within influence area
of a stove, radiator, furnace, oven, heater or infrared. Otherwise, the deep freezer may
perform poorly, get damaged or become inoperable.

3. Choose a place without moisture but with air circulation allowed.

4. For your safety, in order to eliminate the risk of electric shock and fire there must
certainly be a breaker system with a residual current device in your electrical wiring.

5. After putting the deep freezer into place, allow at least 2 hours without moving it
before starting to use.

6. Installation, placement, maintenance and cleaning of your freezer should be as
written in the manual.

7. Avoid any sharp and pointed object or overheated material from contacting with
glass surface of glass-cover products as this may cause the glass to crack or break.
(The option of glass cover may vary as per model.)

8. In order to avoid your appliance from sliding or overturning, place the appliance on a
non-tilted flat surface.

9. Never use your freezer with an extension cord or multi socket.

10. Do not clean your device with pressurized water. Pressurized water might damage
inner surface, outer surface and electrical equipment of your device.

11. Black wired condenser on the back of the device must absolutely be cleaned and
purged against dust once a year. Cleaning might be performed with a vacuum cleaner.
12. Do not allow children to get into the product or play around it. 13. If your deep
freezer is equipped with a lid lock, keep your deep freezer locked and keep the key

in a safe place beyond reach of the children. By the product's end-of-life, the lid

lock of your deep freezer should be rendered ineffective before disposing. Do
remember not to leave children in the deep freezer. Staying in the deep freezer

may create a life threatening condition.

14. For your safety, in order to eliminate the risk of electric shock and fire there must
certainly be a breaker system with a residual current device in your electrical wiring. Our
company is not responsible for failures and losses which might occur as a result of
using the product in an ungrounded network.

15. Do not use any object except ice scraping apparatus provided with your product to
scrape ice off. Using sharp, pointed and metal objects



may damage the interior wall of your cooler/ freezer. This kind of improper use may

cause gas leakage.
16. Avoid any sharp and pointed object or overheated material from contacting with
glass surface of glass-cover products as this may cause the glass to crack or break.
(The option of glass cover may vary as per model.)
17. In case of any failure within your product, taking measures for food preserved within
the deep freeze is fully under responsibility of the user. Our company is not responsible
for spoilt food due to any technical failure or misuse. 18. The appliance should not be
used by physically, visually, audibly or mentally handicapped ones, children, non-
experienced or non-informed ones without surveillance of a person responsible for the
safety of such people.
19. Open the cabinet door only when necessary. Please make sure that the door is
sealed properly when it is not necessary.
20. In the event of a sudden power outage unplug your product. Plug back in 20
minutes after you make sure that the mains become normal.
21. Do not put domestic or wild animals inside your product or allow them to get in.
These kind of living creatures might damage the electrical system and cause fire.
22. Loading food in pieces, making additions as food starts to freeze instead of filling
your freezer to its full capacity is an healthier freezing method. Since sufficient air flow
can not be provided in loadings to the full capacity in one time, cooling process of your
freezer might not be sufficient.
23. Do not let the food you recently put in your freezer be in contact with frozen foods.
24. Frozen inner surface of your device or frozen products should not be touched with
wet hands. If touched, bonding might occur and might cause injuries.
25. Do not place explosive or flammable material in your deep freezer.
26. The device is not to be used with purposes other than it is intended (food storage)
for commercial purposes, for example; cooling water, cooling fizzy or fizzless beverages
in a bakery oven.
27. Your device is manufactured for home use and it's not appropriate to use it in
commercial areas with a commercial purpose. Failures which might occur as a result of
this type of usage is not covered in the warranty disclaimer.



Attention!

e This appliance includes inflammable
and explosive gas R600a or R290.

e The ventilation holes on the casing or the
body of the appliance shall be kept open to pre-
vent blocking

e Do not use mechanical tools or other mech-
anisms except the ones recommended by the
manufacturer to make defrosting quicker.

e The cooling circuit shall not be damaged.

e Except materials recommended by the man-
ufacturer, no electric appliances should be used
within food storage compartment of the appli-
ance.

e In order to decrease the risk of ignition, this
appliance shall only be installed and maintained
by services.




2. Technical Specifications

2.1 General product appearance and specifications

Canopy
Fan Switch

Lock
Lighting
Fan
Thermostat

Glass Door

Rack

Handle

External Body

Lower Blind
Adjusted Leg



Canopy

» Fan switch
Thermostat
Fan

Upper lighting *
Right lighting
Glass door
Rack

Yy ¥ ¥V ¥ Y'Y

» Handle

» Outer Body

» Shelf clip

» Lower blind

» Adjustable fixed foot




2.2 Compressor Models That Use Electrical
Cooling Parts and Specifications

MOTOR OIL TYPE COMPRESSOR WINDING | STARTING RELAY OVERLOAD OVERLOAD OVERLOAD
TYPE THERMAL THERMAL THERMAL
POWER OFF POWER ON
TEMPERATURE | TEMPERATURE
(°C) (°C)
(0
COMPRESSOR MAIN AUXILIARY CAPACITOR
MODEL WINDING (Q) WINDING (Q)
EMBRACOEMY311 RSIR Mineral, 150ml 15.03+/-8% 15.23+/-8% PTC GROUP 230V AE19BU8 18.1+7% 25.7+7% NONE
8Y
JIAXIPERATT1117 RSIR Mineral, 160ml 18.1 +7% 25.7+7% QP3-15/C B62-120 61+9 120+5 NONE
GY
CUBIGELNLYSORA CSIR ISO VG 32 ESTER, 8.62 12.15 2014149. T0266 52.00 105.00 64- 77 uF 330
a 400cm3 Vv
CUBIGELNLY12RA CSIR ISO VG 32 ESTER, 5.45 8.72 2014158. T0188 61.00 115.00 72- 88 uF 330
a 400cm3 \
CUBIGELNPT14RA CSIR ISO VG 32 ESTER, 4.50 5.75 2014166.+ NTC150 52.00 105.00 64- 77 uF 330
MRA38134
400cm3 T0348 \
16 uF 420V




Compressor
connection
Jiaxipera model:

Terminal Bracket |

C

F 8 ™

5
ta 73)\4
./\\\‘a. /e
‘;S,-' ‘v‘.’z"'" @.

HERMETIC
TERMINAL |-~

Combo(Starting relay/Overload protector)

Cord rehef

— 2N\
[@ » 2, e\‘éi 3
/" /N -~ 1
Cable clamp],~ ” F Ea .
Tapping /~ "._capacitor

&KMW" gasket
~. Nut



Compressor
connection
Cubigel model:

WIRING DIAGRAMS AND ELECTRICAL ASSEMBLY
CSIR CONNECTION (L, P ranges)

WIRING DIAGRAM

COMPRESSOR  proTECTOR




STARTING

CAPACITOR

CONNECTION

3/4" PROTECTOR



Compressor connection
Embraco model (EMT,NEU):

: Compressor
: Relay
: Thermal

: Thermal protection-connection cover
: Terminal housing protection cover
: Terminal connection kit
M3,5x7 capacitor bracket connection screw
: M4 x 11 cable holder plastic screw
I: M4 x 21 cable holder plastic screw
J: Capacitor
K : Capacitor bracket

" IOTMOOm>



Connection Type




Compressor Connection

Embraco model (EMY):

: Compressor

: PTC take-off relay

: Thermal

: Terminal housing protection cover
: Terminal connection kit

: M3, 5x7 connection screw

M4 x 11 cable holder plastic screw
I: M4 x 21 cable holder plastic screw

IOTMmMOwW>




Connection type




2.3 Temperature Control and Adjustment

Mechanical thermostat model:

158 0.8 S5
g © , = M10x0.75 —.1 ‘
®| \ B
rs | . -
@ = u g 3
o = u . ';) E
+ [[T < 0
B S\ ' 1 %
ﬁ 28max 25.5max 500*3°
e
S
g v
£ DIAL LAYOUT
M| ul -
=i * WARM
- g 270
§ - ]
= OFF
DEAD ANGLE
45
coLD

Earth terminal 4.8

1. The thermostat charged with R1340
2. 3-4 Maoin switch:closes on temperoture rise

L C:compressor
N 3.Switch rote:3-4 6(6)A 250VAC
3 4. Thermostat shown in COLD position
& 5. Explosion Proof:Correspond to Directive IEC60079-15
T ' (ExnciAT1)
6. Copillary temperature sen_sin? length >150mm
: The second testing temp.is token os accurate volue.
TEMPERATURE AT mm Hg (0 | TEMPERATURE AT 760 mm Hg (O
Signal in ) =
{ Cut in (13) 5.5%1.5
Cut out 10£2.5 2.5%1.5
Diff
: WARM NORMAL COLD WARM NORMAL COLD |
Design | S & Chen Customer : SIMFER
oS Bulhn THERMOSTAT  Customer <
Audt_| . (KP—E)  [Tongbao code: KP3GI-E
DATE| APR.26.2016 | [Approvell w.( . | FOSHAN TONGBAO HUATONG CONTROLLER CO., LTD




MODES

a) 1 (Min) position : keeps the freezer at the hottest value. The inner temperature of the cabin in this mode

is around +10°C

b) Off Mode: When the potentiometer is switched to Off by rotating it counter clockwise, cooling system turns off.

c) 7 (Max) Mode : In this mode, the freezer continuously operates as quick freezing function. The temperature
inside the cabin drops to +1°C and lower levels.



3. Product labelling and descriptions
3.1 Type label and descriptions

©O~NOo kW

SOGUTUCU GAZ SARJ MIKTAR

J0g

MADE [N TIRKTE

) 00686

Product description code used in factory

o B R0N STOK NO:  MACO-2SEWW-CS21604++-000 TOPLAM BROT HACIM 1381
9 - URETIM KOOU: CS2160A+ SOGUTUCU NET HACIM _ﬂ
e = WO DEL 10C160ES DONDURLUCL NET HACIM 134 L
e = KONFIGORASYON: 900003 DN, GIDA SAKLAMANET HACIM ——ﬁ
e = SIPARIS NO S5P-001056-3 DONDURMA KAPASITESI 10 kg /24
9—-—;-F.'LE;'-'L-{ NO 123ABC SINIF SN-T ——@
— SOGUTMA TEKNIG Sitatik
—
o [ VOLTAJ 230-240 V-
e—g FREKANS 80 Hz &
@ = alg 100 W =
@ | B A 0.35A &
0 DEFROST GUCU c € =
@ ®—— SOGUTUCU GAZ TIPI RE00a
1.
2

. The code by which we distinguish volume and energy class of home products and

export products within Simfer and is also given in the technical table in user
manuals. Customer based variation is applicable.

Product main model code

Short code generated following the selection of options
Order number and line number belonging to the order
Market code belonging to the customer as per customer demand

Permissible operating voltage of the device

Permissible operating frequency of the device

9. Value of maximum power used by the device
. Value of maximum current drawn by the device

10
11
12
13
14
15
16
17

. Out of use.

. Type of refrigerant in device
. Quantity of refrigerant in device
. Total gross internal volume of the device.

. Out of use.

. Usable net volume of the device

. Out of use.

Maximum product quantity the device can freeze at a time within 18.24 hours.
19. Climatic classification of the device (SN-T: The device can operate between 10°C and

43

21

OC)
20. The device has a static cooling system. No fan support is provided.
. Serial number



3.2 Serial Number Expansion

digit |10 0 6 8 6 10 0 10 2 0O 2|1 60 5 [0 2
Configuration code |Numeric serial no. |month|year |PU facility [Packaging
Automation |automation
code code

3.3 Product model name expansion

SYD A10MD EC BRAND CODE DESCRIPTION SIMFER CODE
S SIMFER IMEER .ORIZONTAI -REEZER (1A/[.2R) ... CARIN .ETAl | AT [SYD150MDDC
: PRODUCT CASING IMEER .ORIZONTAI -REEZER (.1A/[.2R) ... CARIN .ETAl | AT [SYD2l0MDDC
S Y HORIZONTAL IMEER .ORIZONTAI -REEZER (.1A/[.2R) ... CARIN .ETAl .| AT [SYDS10OMDDC
PRODUCT TYPE IMEER .ORIZONTAI -REEZER ((1R/.2A8) .. CARINILETAl | AT |SYD40MDDC
g D [ FREEZER (16/-26) IMEER .ORIZONTAI -REEZER (1AL2AY ... CARIN LETAl | AT [SYD510MDDC
S | COOLER(:4/+10) AMEER LORIZONTAL REEZER (-16/-2R) oo CARINI LETAL | AT [SYP0OMDDC
D MULTIFUNCTION
WIDTH CLASSIFICATION IMEER .ORIZONTAI OO ER (+1/+10) ... CARINI LETAl 1 AT SvS 150 MD bC
15 150 CASING IMEER .ORIZONTAI OO EFR (+1/+10) .. CARINILETAL ) AT SvS 210 MD bC
21 200 CASING IMEER .ORIZONTAL .OOIER (4+1/+10) ... CARIN LETAL | AT SYS 310 MD DC
31 300 CASING
- 41 400 CASING IMEER .ORIZONTAL .OOIER (41/+10) ..o CARIN 1 AQTIC | AT [SYSIS0PDPK
51 500 CASING IMEER .ORIZONTAL OO ER (+1/+10) ... CARIN .l ASTIC .| AT [SYS210PDPK
60 FRA;‘?TCY’LSE'NG JAMEER LORIZONTAI OO FR (4+1/+10) ... CARIN ol ASTIC | AT [SYS310PDPK
e M METAL FLAT IMEER .ORIZONTAI -REEZEDR (L1AL.2A) ... CARIN .| AGTIC SYD 150 PK
M METAL ANGLED IMEER .ORIZAONTAI -REEZEDR (L1A[.2A) ... CARIN .| AGTIC SYD 210 PK
P PLASTIC FLAT IMEER .ORIZAONTAI -REEZER (L1A[.2A) ... CARIN .| AGTIC SYD 310 PK
PA PLASTIC ANGLED IMEER .ORIZONTAI -REEZER (.1R/-2R) ... CARIN .| ASTIC SYD 410 PK
COVER TVPE IMEER .ORIZONTAI -REEZER (.1R8/-26) ... CARIN .| ASTIC SYD 550 PK
= D SLIDING FLAT GLASS JIMEER LORIZONTAI REEZER (-16/-28) cn CARIN ol ASTIC SYD 650 PK
B SLIDING ROUND GLASS
SP SLIDING P.U. DOOR
C GLASS DOOR
PK P.U. DOOR
(o] OPEN DOOR
MECHANICAL FEATURE
C CANOPY




4. Product Assembly and Disassembly
4.1 Lighting Disassembly

Part Name [How to Descriptive images

Power LED |Unscrew the screws on the right and left of
the power led plastic using a Phillips
screwdriver and remove the plastic as shown
in the figure.

o W NN REERO e

Disconnect the power LED cable by
pressing the connector tab.

Power LED plastic is mounted to the plastic
with 6 Phillips screws. Remove the power
LED using a Phillips screwdriver.




Descriptive images

Part Name | How to
Top-Side Lighting Socket Type
LED Unscrew the upper lighting plastic are using a

Phillips screwdriver. Remove the cover manually
by holding from its rear and lift it up as shown in
the picture.

T — -ai,




Lighting Socket Type-2

Remove the cover retainer plastics on both ends
of the lighting socket using a Phillips
screwdriver.

Remove the transparent lighting plastic from
the upper right and left corners by lifting it
up using a flat screwdriver, then pull the
cover out.




Remove the LED bar by flexing the LED
retainer out manually as shown in the figure.




Disconnect the power LED bar cable on the
canopy part by pressing the connector tab.

Part Name

How to

Descriptive images

Fluorescent
Lighting

To remove the fluorescence out of the socket,
insert the flat screwdriver through the front part
and then slightly press it upwards. Remove the
fluorescent from the lighting socket by holding it

from the protruding part.




Pull out the fluorescent lamp socket
to remove it from the fluorescence.

Connect the white cables to one socket of the
fluorescence and connect the red cables are to
the other socket. Press the needle inwards
through the opening on the side of the channels
where the cables are connected, as you gently
pull the cable out.




4.2. Cooling and Electrical parts assembly and disassembly

Part Name How to Descriptive images

Compressor Electricity The compressor cover is opened by
Connection pressing upwards from the
downwards cable connection with a
flat screwdriver. (the disassembly of
the tab detall is explained on the
compressor covers. Differences may
occur in compressors with different
brands)




There is a lock mechanism in the
terminals connected to the
compressor thermal relay. When
removing the terminals, the latch,
which is indicated with a blue arrow
and located in the middle part of the
terminal, is pushed downwards and
the terminal is extracted.

Terminals connected with a screw
are disassembled with a cross point
screwdriver.




Part Name |How to Descriptive images

Compressor [Move to the rear of the cabinet to
Cover Plate [remove the compressor cover plate.




Part Name | How to Descriptive images

External Fan| Remove the connectors on the external fan.

Remove the screws using a Phillips screwdriver.

Part Name |How to Descriptive images

Gas Before vacuum charging or pipe replacement, cut
Replacement [the service pipe from a point 2-3 cm away from
(Never use |the weld using a pipe cultter.

welding or
similar
material)




Part Name

How to

Descriptive images

Condenser |Replace the condenser using 7 piece socket
wrench set.
(
4
Part Name [How to Descriptive images
Roll Bond Cut the welds on the compressor and the

Evaporator

dryer using a pipe cutter and capillary cutter.




Remove the Roll Bond Evaporator's screws
using a Phillips screwdriver.




Part Name How to Descriptive images
Internal Fan Cover Remove the internal fan

cover using a Phillips

screwdriver.
Part Name How to Descriptive images
Thermostat Remove the thermostat

connectors on the removed
internal fan cover.

Remove the nut on the cover.




Part Name

How to

Descriptive images

Internal Fan

Remove the connectors on the
internal fan.

Remove the internal fan using a
Phillips screwdriver.




Part Name

How to

Descriptive images

Compressor

Cut the welds using a pipe
cutter.

Remove the compressor cover.

Remove the connectors.

Remove the retaining rings on
the compressor.




Part Name

How to

Descriptive images

Lower Blind

Move to the front of the refrigerator and open the

door.

Once the door is opened, remove the two
screws on the top using a cordless drill or a
Phillips screwdriver.

After the screws are removed, remove the
lower louver by pulling it out towards yourself.

Remove the lower louver.




Part Name |How to Descriptive images

Parts on the |Unscrew the 2 screws on the compressor plate
Compressor (using a Phillips screwdriver or a cordless drill.

Plate

Lift up the compressor plate is towards yourself
and pull it out.




Part Name |Howto Descriptive images
Gas Before vacuum charging or pipe replacement, cut : :
Replacemen |the service pipe from a point 2-3 cm away from
t (Never use |[the weld using a pipe cultter.
welding
or similar
material)
Part Name How to do Descriptive images
Condenser Replace the condenser using
9 piece socket wrench set or
9” socket wrench.
Part Name How to Descriptive images
Fan Replace the fan assembly
Assembly using 9 piece socket wrench

set or 9” socket wrench.




Part Name

How to

Descriptive images

Compressor

When the compressor is being
replaced, cut the welds, remove 4

retaining rings. Then

insert the flat screwdriver into the
tab groove to remove the
compressor cover. Push the
screwdriver to the right to release
the tab to the left.

Remove the cover from inside the
slide.




Replace the compressor by
removing the connectors.

Part Name

How to

Descriptive images

Discharge Container
Adapter Pipe

Before replacing the Discharge
Container or Discharge Container
Adapter Pipe, cut the Discharge
Container Adapter Pipe first with a
pipe cutter 2-3 cm away from the
welding point and

unscrew the fixed sections on the
discharge container using a Phillips
screwdriver or a cordless drill.




4.3. Evaporator-Fan-Thermostat Disassembly

Part Name |How to Descriptive images
Hood Unscrew the hood using a Phillips
screwdriver or a cordless drill. e —
\ S

¢ 7\
\'P_* .‘f

Part Name How to Descriptive images

Thermostat The place where the

thermostat is installed to the
hood is unscrewed using a
Phillips screwdriver or a
cordless drill.

~

[

(O
e
-

-

]

4




Part Name How to Descriptive images

Fan Assembly The fan assembly is unscrewed
using a Phillips screwdriver or a

cordless drill.




Part Name How to Descriptive images
Fin Evaporator Unscrew the rear louver using a
and Exchanger Phillips screwdriver or a cordless

drill.

Cut the Exchanger Welds at a distance of 2-
3 cm from the welded using the Pipe Cutter
and Capillary Cultter.




Unscrew the connection screws of the fin

evaporator using a Phillips screwdriver
nr a rnrdlece drill




4.4. Roller Replacement - Disassembly

Part Name | How to Descriptive images
Wheel Move to the rear of the cabinet in

Replace order to remove the compressor cover

ment plate.

it




Part Name |How to Descriptive images

Wheel Bend the wheel pin fixing tab downwards -
Replace using a screwdriver. -
ment




Remove the wheel pin. After that the wheel
can be removed.

Part Name

How to

Descriptive images

Install the new wheel and remount the wheel
pin.




Part Name

How to

Descriptive images

Bend the wheel pin fixing tab back to its
original position using screwdriver or pliers
to secure the pin.




4.5. Roll Bond-Fan-Thermostat Disassembly

Descriptive images

Part Name |Howto
Roll Bond Cut the welds on the compressor and the
Evaporator |dryer using a pipe cutter and capillary cutter.

Remove the Roll Bond Evaporator’'s screws
using a Phillips screwdriver.




Part Name How to Descriptive images
Internal Fan Cover Remove the internal fan

cover using a Phillips

screwdriver.
Part Name How to Descriptive images
Thermostat Remove the thermostat

connectors on the removed
internal fan cover.




Remove the nut on the cover.

Part Name

How to

Descriptive images

Internal Fan

Remove the connectors on the
internal fan.

Remove the internal fan using a
Phillips screwdriver.




Also remove the control panel connection
screws using a flat screwdriver.

Remove the control panel by pulling it
towards yourself.




Place the control panel on the cabinet without
damaging the cables.

2. Step

After removing the canopy plastic on canopy
products and after removing the control panel on
products with control panels, the cocking spring
on doors shall be released. This process is not
necessary on doors without cocking springs. For
doors without cocking springs, the door can be
removed by removing the upper hinge first.

In order to release the cocking spring on doors
with cocking springs, release the allen-head M4
cock spring bolt using 3 mm diameter hard metal
rods or an apparatus that can be inserted into the
M4 screw hole of the cocking spring with two
pieces of hard-metal tools fitting into a M4 screw
hole by turning to the left on doors that open to
the right and viceversa. Remove the released M4
cock spring bolt using an allen wrench.
CAUTION!M!

Do not remove the apparatus from the cocking
spring that we turned with the help of the
apparatus and firmly hold the apparatus. Since
the cock spring bolt is removed and the cocking
spring is still set, the spring may harm you by
ejecting the apparatus. Therefore keep holding
the spring. After unscrewing the M4 bolt, insert
the other apparatus into the other holes of the
cocking spring and turn the spring stepwise in the
opposite direction of spring installation to release
the cocking spring. When doing this,




make sure that the apparatus is fully
inserted into the holes and that you
hold the apparatus firmly.

Release the spring by turning it slowly in the
opposite direction of the spring installation.

3. Step
Remove the bolts of the door upper hinge.
CAUTION!!

When removing the upper hinge bolts, hold
the door to prevent it from falling or seek
help to hold the door.




There are two types of bolts in the upper
hinge: M5 allen-head bolt and M5 bolt.

The M5 allen-head bolt shall be removed with
4 inch allen wrench.

The M5 bolt shall be remove using the T25
torx hit.

Remove the upper hinge. Remove the door
by gently lifting it and releasing the door
hinge hole from the lower hinge pin.




Some models

products upper hinge is installed as depicted in
the side picture. When removing the door on
these products, after loosening the cocking
spring, the upper hinge shall be removed by
removing the M5 torx bolts first as described
above. (CAUTION!!! Make sure to hold the door
so that it does not fall while removing the upper
hinge bolts.)

After the upper hinge has been removed,
gently lift the door up to remove it.

4. Step




After the new door is seated on the lower hinge
pin, sort the upper hinge on the door and
tighten the upper hinge bolts.

5 Step

With the apparatus we use for releasing the
spring we can also install the spring. Install the
spring by turning it 2 turns to the right for the
doors opening to the left and viceversa. Make
sure that the apparatus is fully inserted into the
holes and that you hold the apparatus firmly in
order to prevent the spring from snapping
back.

After installing the spring, tighten the cock
spring bolt with allen-head M4 bolt.

Then release the spring carefully. Do not
remove the apparatus until the bolt touches

thA ctAannAr

65






On metal canopy products, place the canopy
first.

Tighten the upper and lower connection screws of the canopy.

67



For products with a control panel, install the the
control panel first, tighten the screws and install
the screw plugs.

caution: Never interfere with a device filled with R600a and R290 gas
with weld. If you are not able to cut the drier inlet pipe, ensure that
the gas is discharged by gashing the drier body with side cutting
pliers. Then, cut the pipes



M series (LED)

LINE
0-1 Switch *
7 |Themostat Door Switch 7
836 W*
LED DRIVER
Door Switch 7 [ I |
Green*
indicator 0
s1ows | |e1awe| | e1swe
LED Led Led
Compressor
Tt
Blower e
Motor Blower 'g':'w‘:r
ok sl
NEUTRAL
€3 ﬂ * Option H10-10-240-398




6. Product Failure

6.1 Device is not working or not Cooling

Does not cool / Inadeauate coolina

=
N\

Is the outlet
live? Check

Measure the

No voltage at the
incoming
terminals on the

compressor
Is there any

N

Yes

Does the
compressor
work?

: Yes :

Is the No
thermostat >
OK? l There might be gas
leak in welding

' Rectify | points.
Yes —“ Q Check with ?
bubble.
Thermosta No Is relay-thermal
t < group robust? »
Check the
. \é Is a gas leak
Replace detected?
relay-
thermal

group

the mains for No
power S
(220- 240 v)

condenser heat?

S ( “rw \
The ohmage
< between 5.

compressor Yes
tarminale NK2

\/ Check the

compressor
| » ,and
No replace

(® ) Check whether there is any gas leak in all visible pipe and welding points or
not. (**) Before charging gas into the system, replace the dryer and after vacuum at

_______________

......................

Notify the
Customer

(220- 240 v)

Yes

f

|
k4

Check the
thermostat
setting as
per the
ambient
temneratur

Any gas leak

in the
system?

Yes

the system
completely,
rectify the leak
(**) and

racharne the




6.2 Device runs loudly

Abnormal noise/Noisy Operation

|
7%,

Is the No
<appliance located » | Place the
on a level appliance
on a flat
and level
~ivfAaA~A
- No Are the e
Rectify p#—— setting N
Are the Yes
5
compressor > ‘L
legs loose? _ 1 ‘
\/ Check and
correct the [
compressor [
mounts and

securing lugs.

Are the legs of
the condenser
loose?

Rectify

>

- s

Is there bitumen

‘ No /on the capillary Yes | Vacuum the
> and at the pomt » system for at

where the capillary least 1 hour.
leaves the Recharge with

the specified

amniint

No

Wind bitumen
on the capillary
and at the point
where the
capillary leaves

- ¥



6.3 Cooling system troubleshooting

Symptom

Reason

Remedy

- Evaporator cooling
decreases but heats up
afterwards
- Condenser heat is
increasing

Operation mode
never changes

System failed due to
presence or formation of
humidity.

Discharge refrigerant from
the cooler. Replace the drier,
vacuum and then restore
required amount of
refrigerant.

Condenser is cold
Evaporator is cold
Compressor is hot

Foreign substances in the
system block the cooling
cycle.

Discharge refrigerant from
the cooler. Replace the drier,
vacuum and then restore
required amount of

rafrinarant

There is not any
temperature difference
between return pipe and
pressure pipe.

Compressor
temperature is at ambient
temperature

There is no cooling in
evaporator

Compressor failure

Replace compressor.

Frosting in the
return pipe
Condenser is
overheated
- Evaporator is not
working efficient

Too much refrigerant.

Discharge refrigerant from
the cooler. Replace the drier,
vacuum and then restore
required amount of
refrigerant.

- Condenser is cold
- Compressor surface
is too hot

Freezer cooling rate
is very slow

Refrigerant leak (regional
icing may be observed on the
evaporator.) System failed
due to presence or formation
of humidity.

Discharge refrigerant from
the cooler. Replace the drier,
vacuum and then restore
required amount of
refrigerant.

CAUTION: Always remove the plug of refrigerator before interference. Make sure that

refrigerator is deenergized.






